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The semi-final round provided less exacting contests for both
Parson and Reekie. Parson went out in 38 against John F. Dailey,
Jr., of Rochester, and won hy 5 and 4. Reekie defeated Rusty
Brown by 4 and 2.

Then came the big upset in the final, in which Parson started out
by winning the first hole with an eagle 3 and ended up by taking
the match by 2 up on the home green. Parson lost the second hole,
after hooking his drive to the railroad tracks, but won the fourth
and fifth with a birdie score on each of them. He lost the long
seventh to Reekie's par 5 but was still 1 up at the turn, where he
arrived in 36 to Reekie’s 37.

Starting towards home. Reekie won the tenth when Parson drove
into a trap, but, beginning with the twelfth, Parson took three in a
row and was 3 up when they started for the fifteenth.

Reekie won that hole with a perfect 3 and reduced his disadvantage
to 1 down at the sixteenth, which he annexed with a well played 4.

Neither finalist did anything to be proud of after that. They
halved the seventeenth in 4’s and Parson, after slicing his drive
for the eighteenth hole, won the hole and the match, by 2 up, when
Reekie missed a sizeable putt and a shorter one and lost his chance
for an extra hole settlement.

THE MATCH ROUNDS
FirsT SiXxTEEN—FIRsT ROUND
William Reekie defeated Morton L. Fearey............. 6 and 5
Norman Maxwell defeated FF. T. Keating......... 1 up (19 holes)
J. C. McDonald defeated A. E. Ranney.................. 6 and 4
T. Russell Brown defeated H. G. Phillips............... 4 and 3
Donald Parson defeated E. C. Beall....................3 and 2
E. L. Scofield defeated T. S. Fuller. ...................5 and 4
John F. Dailey, Jr., defeated G. M. Howard............ 6 and 4
John D. Chapman defeated Joseph Bydolek.............. 4 and 3
Seconp Rounp
William Reekie defeated Norman Maxwell.............. 7 and 5
T. Russell Brown defeated J. C. McDonald.............. 2 and 1
Donald Parson defeated E. L. Scofield. .......... 1 up (19 holes)
John F. Dailey, Jr., defeated John D, Chapman........... 4 and 3
SEMI-FiNAL Rounp
William Reekie defeated T. Russell Brown.............. 4 and 2
Donald Parson defeated John F. Dailey, Jr...............5 and 4
Finar Rounp
Parson defeated Reekie. . ..............ccovvvivnnnnn. 2 and 1
Dereaten Eicar—FirsT Rounnp
F. T. Keating defeated Morton L.. Fearey............... 6 and 5
A. E. Ranney won from H. G. Phillips............... by default
E. C. Beall defeated T.S. Fuller.............ccciiiane. 4 and 3
Joseph Bydolek won from G. M, Howard.............. by default
SemI-FixaL Rounp
A. E. Ranney defeated F. T, Keating............. 1 up (19 holes)
E. C. Beall won from Jos. Bydolek. ................... by default
FinarL Rounp
Beall defeated Ranney.............coiviiiiininennninns 4 and 3
Seconp SIXTEEN—FIRST Rounp
H. L. Newton won from H, J. Blue................... by default
T. Earl Long defeated R. H. Swoope. . . . ... O IO . 2 up
S. R. Hollander defeated E. H. Wiswell................ 6 and 5
J. D. Armstrong defeated D. G. Carter................. 5 and 3
Hugh Halsell defeated Lambert Splane. . ................ 4 and 3
M. E. Van Raalte defeated C. W, Watson.............. 4 and 2
N. W. Peters defeated H. C. Buckminster............... 1 up
C. L. Becker defeated George Van Keuren.............. 2 and 1
SeEconp Rounp
H. L. Newton defeated T. Earl Long..................3 and 2

S. R. Hollander defeated J. D. Armstrong.............. 3 and 1

Hugh Halsell defeated M. E. Van Raalte, . ccc o o cnieaten 6 and 5

N. W. Peters defeated C. L. Becker.................... 3 and 2
Sem1-FinaL Rounp .

H. L. Newton defeated S. R. Hollander. ............... 2 up
Hugh Halsell defeated H. W. Peters.. .................. J and 2
Finar Rounp
Halsell defeated Newton. ... ..covvvrerenrreennsinnnns 5 and 4
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Dereatep EicaT—FirsT Rounp
R. H. Swoope won from H. J. Blue.................. by default
D. G. Carter defeated E. H. Wiswell.. .................. 1 up
Lambert Splane defeated C. W. Watson................. 7 and 5
"H. C. Buckminster defeated George Van Keuren........ 2 and 1

SEMI-FINAL Rounp

R. H. Swoope defeated D.G. Carter.................... 2 and 1
H. C. Buckminster defeated Lambert Splane............. 2 and 1
FinarL Rounp

Swoope defeated Buckminster. ..................o00u0, 1 up
Tuirp SixTeEN—FirsT Rounp
J. D. Winton defeated Dr. J. S. Brown................. 4 and 3
J. N. Dodson defeated 1. N. W, James.................. 6 and 5
P. B. O'Brien defeated B. V. Covert............oo0vuuu 1 up
N. S. Hurd defeated W. T. Barr. .............coivnans 1 up
H. B. Newton defeated S. C, Aberle.............. 1 up (19 holes)
F. S. McLaughlin defeated John Bowker. ............... 4 and 2
F. W. Shibley defeated H. B. Swoope. ................. 2 and 1
D. N. Winton defeated C. D. Newell.. . ................. 2 and 1
SEcOND Rounp
J. D. Winton won from J. N. Dodson. . ................ by default
N. 8. Hurd deteated P. B. O'Brien.. ... ... covsicvnrss 2 and 1
H. B. Newton defeated F. S. McLaughlin.............. 2 and 1
D. N. Winton defeated F. W. Shibley.................. 2 up
SEmi-FinaL Rounp
L. N. Winton defeated N. S, Hurd............... 1 up (19 holes)
H. B. Newton defeated D. N, Winton. ................. 1 up
FinarL. Rounp
Newton defeated WIBtON. . .. .cviosis v oo as vanisisaios s 2 up
DereaTED Eigur—F1rsT Rounp
Dr. J. S. Brown defeated I. N. W. James. ............... 4 and 3
B. V. Covert defeated W. T. Barr...........coovvunnnn. 3 and 2
S. C. Aberle defeated J. R. Bowker...........o0veuun.. 4 and 3
C. D. Newell defeated H. B. Swoope. . ......ccovuveunns. 1 up
SeEmI-FinaL Rounn
Dr. J. S. Brown defeated B. V. Covert.................. 1 up
C. D. Newell defeated S. C, Aberle.................... 6 and 4
FinarL Rounp
Brown defeated Newell................ccooviviinini... 1 up
FourtH SixTeEN—FI1rsT Rounp
H. H. Rackham defeated A. T. Burleigh................ 1 up
W. A. Rupp defeated J. D. C. Rumsey.................. 6 and 4
C. H. Smith defeated Dr. F. K. Ream.................. 2 up
Dr. J. H. Simmerman defeated R. Wing................ 2 and 1
H. B. Swoope, Jr., defeated F, C, Stevens. ........ 1 up (19 holes)
John F. Dailey defeated N. A. Howard. .............. .3 and 2
Rex. W. Wadman defeated W. H. O’Hara.............. 5 and 4
C. L. Gillette defeated J. S. Irving...................... 4 and 2
Stconp Rounp
W. A. Rupp defeated H. H. Rackham. .. ... ........... 6 and 5
Dr. J. H. Simmerman defeated C. H. Smith.............. 3 and 2
H. B. Swoope, Jr., defeated John F. Dailey.............. 3 and 2
Rex. W. Wadman defeated C. L. Gillette. . .............. 5 and 4

{(Continued on page 13)




